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CHEMISTRY

BOOKS - MS CHOUHAN

CARBENE AND NITRENE

1.2

Product of this Hoffmann bromamide reaction is :

o

I
A.Ph — C — CHjs

B. Ph — CHO
c.l&

D. Ph — CH, — NH,


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Mi0tnzWVLjEg

Answer: B

° Watch Video Solution

HO NH, X% (4)—— (B).
2.

Compmound (B) is :

1
N }NH-&-—H

8]
C

D. [

Answer: B

[ o~


https://dl.doubtnut.com/l/_Mi0tnzWVLjEg
https://dl.doubtnut.com/l/_qe9pUBrN4oCI

l bt Watch Video Solution J

O
{:HI—Q—HH,
QU
C -0 -CH,
b

3. Product (A)

oY
A 0
NH
B. 0



https://dl.doubtnut.com/l/_qe9pUBrN4oCI
https://dl.doubtnut.com/l/_xdtdGQXhaZP5

oy

O

Answer: C

o Watch Video Solution

4.

Product and name of the reactions is :

1
NH - C - Me

(Hoffmann
A bromamide reaction)

O
NH—!—M:

(Beckmann
B rearrangement)


https://dl.doubtnut.com/l/_xdtdGQXhaZP5
https://dl.doubtnut.com/l/_F7JQAkZKIOo8

CN
C Og/ (Curtius reaction)

D. None of these

Answer: B

o Watch Video Solution

NH, KOH | Bra
5.(A) —— (B) —— (CH;),CHNH, Ais

b @ N0


https://dl.doubtnut.com/l/_F7JQAkZKIOo8
https://dl.doubtnut.com/l/_pqIepKxqIlHp

Answer: A

° Watch Video Solution

6. Which of the following will not give Hoffmann bromamide reaction

o

|
A CH; — C — NH,

o

I
B.Ph — C — NH,

o

I
C.CH; — C — NH — Br

o

I
D.Ph —C — NH — Ph

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_pqIepKxqIlHp
https://dl.doubtnut.com/l/_M7Sk9WHp89BS

7. , Reactant x

A.CH3Cl

B. CH,Cl,

C.CHCl;

D.CCly

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_sclPULBkFaKd

B
o

¢
H450 .
\@ _"_u_leuH (A)

8.

of the reaction is:

o
A.Ph—NH—‘CL—Ph
o'
B.Ph — NH — g’ — Ph
OH

|
C.(Ph), — C — NH,

D. Ph — CHy — NH — Ph

Answer: B

Product (A)

o Watch Video Solution



https://dl.doubtnut.com/l/_1PPUkh6zpXig

CHE\C _Ph Ph CHg

I 1,50, | H,80,
. —i 1, (A) (8)
S & on

Product (A) & (B) respectively in the above reaction are:

o o
| ||
A.Ph—C —- NH —-CH3,Ph —C — NH — CH3

O ()
I I
B.CH; — C — NH — Ph,CH; — C — NH — Ph

o ()
I I
C.Ph—C — NH — CH;,CH; — C — NH — Ph

o o

I I
D.CH; — C — NH — Ph,Ph — C — NH — CH;

Answer: C

o Watch Video Solution

KOBr
10. NBS —— (A).Product (A) is :


https://dl.doubtnut.com/l/_LuJ7AYCaKgDa
https://dl.doubtnut.com/l/_5RcIwRE8K9in

NH,
B.
0
C.
D.
Answer: B

| ° Watch Video Solution


https://dl.doubtnut.com/l/_5RcIwRE8K9in

0
CHg | < _NeOBr , (4

1. H Product of

the reaction is :


https://dl.doubtnut.com/l/_5RcIwRE8K9in
https://dl.doubtnut.com/l/_No5oViOkRJKG

Answer: A

° Watch Video Solution

OH
(1) CHA  / NalH
e e S el (A)
@mH* (Major)
12 L
Product (A) is:
OH
o™
m-li


https://dl.doubtnut.com/l/_No5oViOkRJKG
https://dl.doubtnut.com/l/_oQQIPAWdY5VT

OH ©
OH
OCH,
C.
OH
OCH, 0
D.
Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_oQQIPAWdY5VT

13.

o

|
R—-C - NHy 4+ xNaOH + Bry - R — NHy 4+ 2NaBr + Na;COs + H

Number of moles of NaOH used in above Hoffmann bromamide reaction

A3
B.4
C.5

D.6

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_2ZOwGlNsZGCJ

R \E
e

reaction toward Backmann rearrangement

= N
14.
wheny = CH3CO, ,Cl — CH; — CO, , Ph — SO
(1) (i) (i)
B. (4i) > (3) > (ii7)
C. (i) > (i) > (4)

D. (ii5) > (i) > (i)

Answer: C

, Rate of

o Watch Video Solution

15. A primary amine on reaction with alc. KOH and chloroform yields


https://dl.doubtnut.com/l/_pDAyEloU6Qag
https://dl.doubtnut.com/l/_WnzNY5KW9lpJ

A. an isocyanide

B. an aldehyde

C.a cyanide

D. an alcohol

Answer: A

o Watch Video Solution

16. The reaction of chioroform with alcoholic KOH and p-toludine forms

H,C—@—Cﬂ
A.

H3C—@ NC
B.

Hgn::‘@— N,Cl
C.

HsC —@— NHCHCI,


https://dl.doubtnut.com/l/_WnzNY5KW9lpJ
https://dl.doubtnut.com/l/_ElRcSIvKjsco

Answer: B

° Watch Video Solution

17. What is the product (Q) of the following reaction?

‘:HEF'_, ()

an
&
fas

l

facy


https://dl.doubtnut.com/l/_ElRcSIvKjsco
https://dl.doubtnut.com/l/_KM8GJqNwYzUQ

(19,

D.

Answer: D

° Watch Video Solution

CHBr,

NeOH, 3% 4 (A);

= — ™

18. , Product

(A) is :


https://dl.doubtnut.com/l/_KM8GJqNwYzUQ
https://dl.doubtnut.com/l/_5n0vq0o8srNY

C.
Br
D.
Answer: A

o Watch Video Solution

19. Which of the following reaction, does not give chloro benzene as a

product?


https://dl.doubtnut.com/l/_5n0vq0o8srNY
https://dl.doubtnut.com/l/_oCbk80sgvgE7

B.
_ GO HO
C.
m ) CHEPCIBr, 10
D.
Answer: D

° Watch Video Solution

n/Cu

20.

Compound (A) is :


https://dl.doubtnut.com/l/_oCbk80sgvgE7
https://dl.doubtnut.com/l/_MlGWqfIRAv6d

v
g

ROSS,
, L

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_MlGWqfIRAv6d

NH,

N C
+ CHCl; + xKOH —

21.

x = moles of KOH consumed is :
A1l
B.2
C.3

D.4

Answer: C

o Watch Video Solution

22. Heating the acyl azide in dry toluene under reflux for 3-hours give a

90% yield for a heterocyclic product. Identify the product (A).



https://dl.doubtnut.com/l/_A4lbJYqiZ8el
https://dl.doubtnut.com/l/_b4zF5shKDh4v



https://dl.doubtnut.com/l/_b4zF5shKDh4v

Answer: A

o Watch Video Solution

23.


https://dl.doubtnut.com/l/_b4zF5shKDh4v
https://dl.doubtnut.com/l/_ogXxp7oQajgX

D. Br

Answer: B

° Watch Video Solution

O4,H
o (1) CHzN, ”
A H '
HO E (2} ncetone/H'
OH [ 3)Acy 0, Acetic anhydride

24.
(de-colourises Bry water)

Product (A) of the above reaction is :

CO,CH,4
§
OAc 70— (\; —


https://dl.doubtnut.com/l/_ogXxp7oQajgX
https://dl.doubtnut.com/l/_tAql3LEDL5Qb

_}g_"ofh,.
oﬂn,

CHs cn,

e

AcOW Me

Answer: B

° Watch Video Solution

25. A rather interesting example of the Wolff rearrangement with 2-

diazocyclohexanone in methanol is given below. Identify the major


https://dl.doubtnut.com/l/_tAql3LEDL5Qb
https://dl.doubtnut.com/l/_n6phmUx56HNp

product:

O

Answer: A



https://dl.doubtnut.com/l/_n6phmUx56HNp

| ° Watch Video Solution

26. The correct representation of single carbene is

\p2
A.
B.
P
! 4 Py
C——H
NI
C.

D. none of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_n6phmUx56HNp
https://dl.doubtnut.com/l/_R4FgBrVRnj7Q

27.The orbital picture of a triplet carbene can be drawn as :

A
N ‘,’_-‘ P
SR
H/ sp2
B.
C.

D. none of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_32yFdACA4AxC

cHO cHO ]
m -y " ey -
28.

Recs
[ces
|

o Watch Video Solution



https://dl.doubtnut.com/l/_R7Gk6zYKsnul

29.

Select the suitable reagent for above conversion.
A.CHy;N, /A
B.CBry/RLi
C.H,C = CH,

D. t-BuOK

Answer: A

° Watch Video Solution

CH-l, (2 mole)

HO . A
HDW >

in (Cu) (97T%:)

30.

Product (A) will be :


https://dl.doubtnut.com/l/_R7Gk6zYKsnul
https://dl.doubtnut.com/l/_G5uEqq7X2hlT
https://dl.doubtnut.com/l/_cpRZFTQ1ZvKH

HO

o VK
A

HOW]IO
B.

C. h
r_'uagw(xm

Answer: B

° Watch Video Solution

31. The major product formed in the following reaction is

Me Me

H + ﬂ"[;._ {5ingleﬂ

H H

=¥



https://dl.doubtnut.com/l/_cpRZFTQ1ZvKH
https://dl.doubtnut.com/l/_jQr8DXqPYcxq

C. 50:50 mixture of above two compounds

H H
D.

Answer: A

o Watch Video Solution

32.

To carry out conversion reagent used in decreasing order.
A.Na/liq. NH3, ChBr3 / NaOH(A)
B.H2/Pd — CaCO3, CHBr3 / NaOH(A)
C.Na/liq. NH3, CHCIl3 / NaOH

D. Hz/Pd — CaCO:s, CHCZ3/NCLOH


https://dl.doubtnut.com/l/_jQr8DXqPYcxq
https://dl.doubtnut.com/l/_OyU2ZsPkJ9BA

Answer: B

° Watch Video Solution

CH, ‘Tq%h + (A) + CHBr, 4

33.

Product (A) of the reaction is :

@:{‘.DEI |
CO,H

A.
CO,H
~ CH,
. 0
CO,
03


https://dl.doubtnut.com/l/_OyU2ZsPkJ9BA
https://dl.doubtnut.com/l/_9WkXod5l3NNq

0,H

Answer: C

° Watch Video Solution

CEEN

1 e
___{_i:]l‘ﬂi ] F{ﬂ}:
(2) HO ,Bry

34. Product

(A) is :


https://dl.doubtnut.com/l/_9WkXod5l3NNq
https://dl.doubtnut.com/l/_7PLeFJxKzFOX

co;

NO,

NO,


https://dl.doubtnut.com/l/_7PLeFJxKzFOX

NO,
C.
: ~Br
NO3
D.
Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_7PLeFJxKzFOX

NH Sl ]

» (X)) ;
H &

NO, O

-

35.

Product X will be :

CO,H

NH,

NO,
A
NH,
o
B. NO;

CO,H

CO,H
NO,


https://dl.doubtnut.com/l/_nETKN20wtOAW

JOGN
NO; CO,H

Answer: B

° Watch Video Solution

CHyN,/ A
36. CH3 — CHz — CH2 — CH2 — CH3 —— Products

Which of the following product(s) is/are can be obtained in the above
reaction.

A.lsopentane

B. 3-Methyl hexane

C. n-Pentane

D. 3-Methyl pentane

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_nETKN20wtOAW
https://dl.doubtnut.com/l/_za9Ct6GmMDu7

I

[ viamy -

37. Relation

between (A) & (B) is:

A. Identical

B. Functional isomer

C. Homologous

D. Positional isomers

Answer: C

o Watch Video Solution

38. If we use carbon tetrachloride in Reimer Tiemann reaction in place of

chloroform, the product formed is


https://dl.doubtnut.com/l/_za9Ct6GmMDu7
https://dl.doubtnut.com/l/_9ymUaVtRziYa
https://dl.doubtnut.com/l/_SHldIPi8vnzp

A. Salicylaldehyde

B. Phenolphthalein

C. Salicylic acid

D. Cyclohexanol

Answer: C

o Watch Video Solution

39. The amine which does not react with chloroform and ethanolic

potassium hydroxide is

A. A secondary amine

B. An isocyanide

C. A cyanide

D. An acid

Answer: B



https://dl.doubtnut.com/l/_SHldIPi8vnzp
https://dl.doubtnut.com/l/_Oa6n9il99Xlh

| ° Watch Video Solution

40. Which of the following species would not be involved in the Hoffmann

rearrangement shown below?

0

5, MalH, H -
Hr‘ 1 . . T~II_I.1

NH,

A NHBr

Gx¢
N B¢
d Ne=C=0

D. All of the above are involved in the reaction.

Answer: D



https://dl.doubtnut.com/l/_Oa6n9il99Xlh
https://dl.doubtnut.com/l/_zcIZbuKHQlhv

| ¥ Vvvatch video sSolution J

41. In which of the following reactions migration of alkyl group from

carbon to oxygen is observed ?

A. Pinacol-pinacolone rearrangement

B. Bayer-villiger oxidation.

C. Prepration of phenol from cumene hydroperoxide.

D. Both (b) & (c)

Answer: D

o Watch Video Solution

Level 2 Comprehension

1. Hoffmann bromamide reaction involves conversion of a carboxylic acid

amide into an amine with a loss of a carbon atom on treatment with


https://dl.doubtnut.com/l/_zcIZbuKHQlhv
https://dl.doubtnut.com/l/_SqjD95iCvwYK
https://dl.doubtnut.com/l/_9fahxLaKDIWL

aqueous sodium hypobromite. Thus Hoffmann result in shortening of a

carbon chain.

o

R—-C — NHQN—O—H)R NH2+NGBT+NG2003

Mechanism of the reaction is :

o (P
l N\
R~ C - NH, -ty R - C - NH + Br—Br
|
0
Il
R-C-NH-Br
lHdE'
0

]
Na,CO4 + R-NH, ¢—22- 0 = C= N-R«—R ¢ (\NB Br
Number of moles of NaOH consumed in above reaction.
A1l
B.2

C.3

D.4

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_9fahxLaKDIWL

2. Hoffmann bromamide reaction involves conversion of a carboxylic acid
amide into an amine with a loss of a carbon atom on treatment with
aqueous sodium hypobromite. Thus Hoffmann result in shortening of a

carbon chain.

o

I .
R—C — NH, —BO—> R — NH, + NaBr + NayCO;
NaOH

Mechanism of the reaction is :

C?PJ

|
R-C-NH,- MO, p ¢ - NH + Br
- e

Lo}

O —

Il
R-C-NH-Br

E
O

H,0 ]
Na,CO, + R-NH, «——0 = C= N-R+«—R -C* N=Br
: 3 2 \"-_-)

—

Product (A) :

A Ph — NH,

B. Ph — CH, — NH,


https://dl.doubtnut.com/l/_l7Y0srhVhWZH

C.Ph— NH — CHj

~ CHy
Ph-N

"N CH,

Answer: A

o Watch Video Solution

3. Hoffmann bromamide reaction involves conversion of a carboxylic acid
amide into an amine with a loss of a carbon atom on treatment with
aqueous sodium hypobromite. Thus Hoffmann result in shortening of a

carbon chain.

o
[ Bry
R—-C — NH, —O> R — NHy + NaBr + Na2003
NaOH

Mechanism of the reaction is :


https://dl.doubtnut.com/l/_l7Y0srhVhWZH
https://dl.doubtnut.com/l/_wVRWPzlB6iJY

R - C - NH, M0, g _C M—G\r

o

Il

R-C- NH-Br
1

I

-

l

o)
1
Na,CO; + R-NH, 22 0 = C= N-R ¢—R  C (;0 Br

Which of the following will not give Hoffmann bromamide reaction.

o

|
A CH; — C — NH,

0
©r-
- NH - CH,
D.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_wVRWPzlB6iJY

4. Hoffmann bromamide reaction involves conversion of a carboxylic acid
amide into an amine with a loss of a carbon atom on treatment with
aqueous sodium hypobromite. Thus Hoffmann result in shortening of a

carbon chain.

o

[ Bra
R-C - NH, —O—> R — NHy + NaBr —|—NCL2003
NaOH

Mechanism of the reaction is :

Ca

Il I
R - C - NH,-Ha0H, g _ ¢ w—@
0
Il
R-C-NH-Br
ludg’
0

Na,COy + R-NH, ¢—22— 0 = C= N-R «—R ¢ C (42 by

Product (A) is


https://dl.doubtnut.com/l/_nC4PH90OBR1D

NH;
ok
A G
NH — CH-
—

. U

NH,,

|:I‘-ﬂ I

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_nC4PH90OBR1D

5. Given is mechanism of Beckmann rearrangement.

H

CH; oH  CHy 0—

¥ H.,O | inn
~n :

(o]

[
CH; —C—NH—Ph ——= C'I*]]—(l_':]\'_
(

OH

Rate determining step in Beckmann rearrangement:

Al
B. I
C. 1

D. IV

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_ZdgfolgS80i6

6. Given is mechanism of Beckmann rearrangement.

— @ H _ @ — CH,—C =N
/C = .51‘\ T /C h\/'_\\ an 3
CH, OH CH, 0O—H
b H,0 | (mm
H
o
i - 5
CH; —C—NH—Ph ——= c:H]—ti =N @
OH

= [N

C
.ﬂ"f. N‘*-._
Ph OH

On treatment H>S504 followed by hydrolysis in acidic medium above

compound gives.

A.CHs — CO2H, Ph — NH,
B.CHs — NH2, Ph — CO2H
C.Ph— CHy — NHy + Ph — COsH

D.Ph — COsH + CH3 — COsH

Answer: B


https://dl.doubtnut.com/l/_QT8GAgHHYNF9

° Watch Video Solution

7. Given is mechanism of Beckmann rearrangement.

H
-.-—._.’
CH, o CH, o—

+ H,0 |ion
\‘\H

: e @ : /ﬁ\‘gé) —> CH, —T: =N
AT T P N T ' @
H
(o}
Il L8]
CHy —C —NH — Ph ——= CH:—CI =N

OH

Which of the following reagent cannot used in Beckmann

rearrangement?
A.TsOH
B.R— SO.H
C. BF}s
D.Ph — Li
Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_QT8GAgHHYNF9
https://dl.doubtnut.com/l/_n5Y207iYisU0
https://dl.doubtnut.com/l/_3lucyv7fHQRG

8. Given is mechanism of Beckmann rearrangement.

@ 2 Qf\@ ot =5 {0)

C
mn
H,O | mm
0
I ™
CH; —C—NH —Ph =—== CH;— 1

f,.DH
C=N
@ % %H:-"—b[zih
CH,4

Product (A) of the above reaction is :

0
I

CH;
@—Icf.\'ﬁ—@_cm

o
1
C CH;~@—C7N‘H—@—CHR


https://dl.doubtnut.com/l/_3lucyv7fHQRG

Answer: B

° Watch Video Solution

9. Consider the given reaction for preparation of alkyne. (Fritsch reaction).

@\ D””q:" @\{?‘Dum 4%, Ph-C=C - Ph

]1!1 \( | LA d Thase ) Ph

Anti group will migrate because of less steric hindrance.

product (A) is :

A @Ceg_@m
CPh—-C=C"—-Ph

D.Ph—C =C — Ph

Major


https://dl.doubtnut.com/l/_3lucyv7fHQRG
https://dl.doubtnut.com/l/_lNAfGk9Gq7NM

Answer: A

° Watch Video Solution

10. Consider the given reaction for preparation of alkyne.

reaction).

3, O
@\ {\/ "b“ /—{Q —)Ph-CwC-Ph

]1!1 1 M.rld ase ) Ph/

Anti group will migrate because of less steric hindrance.

L + K®0®%c(cH (A
““*Br (CHq )4 (A},

(Fritsch

Product (A) is

O


https://dl.doubtnut.com/l/_lNAfGk9Gq7NM
https://dl.doubtnut.com/l/_XpTqO4gA9ViA

.0
(=0

D.

Answer: C

o Watch Video Solution

1. Consider the given reaction for preparation of alkyne.

reaction).

2, O
@ 'r\/“ F‘l"h . —)Ph-c, C -Ph

=C
I‘h “\( 1 |*.r|d ase |

Anti group will migrate because of less steric hindrance.
Rate of reaction when the halide ion:

AI® >Cl® > Br® > F®

B.I® > Br® > C1® > F®

C.F® >(Cl® >Br° > 1°

(Fritsch


https://dl.doubtnut.com/l/_XpTqO4gA9ViA
https://dl.doubtnut.com/l/_rH0GqC6HyaKd

D.F® >~ Br® > 1° > 1°

Answer: B

o Watch Video Solution

12. Consider the given reaction for preparation of alkyne.

reaction).
@\ B {\/' w3 TN O /’d 145 | ph = C-Ph
]1!1 "\(_ 1 (A d base ) Ph/ (}'

Anti group will migrate because of less steric hindrance.

. *f ¢~ BuOK :
CH4 H"Br +& (A) (Major) ,

Product (A) is: (C* = 014)

CH, o Br

(Fritsch


https://dl.doubtnut.com/l/_rH0GqC6HyaKd
https://dl.doubtnut.com/l/_TeykXc1BylEG

CH,

CH,0

Br

CH,0

Br

Answer: B

o Watch Video Solution

13. Wolff rearrangement

When «-Diazoketones are photo-irradiated or heated at high
temperature or reacted with silver oxide or silver salts at room
temperature, they loose nitrogen and rearrange to form ketene.

The ketenes reacts rapidly with water, alcohol and amines. Therefore, the

reactions called Wolff-rearrangement.


https://dl.doubtnut.com/l/_TeykXc1BylEG
https://dl.doubtnut.com/l/_UpvurDhfP41m

@ﬁ—cwz MO N 4 Ph-CH=C=0

lu:o Jl_C”,-HH;
Ph-CH, -CO3H Ph-CH, "ﬁ—NH—CHg
0

o

‘ | AQQO
Ph — C — CHN; — (A),Product (A) is :
14 H,0

14
A.Ph — CH, — COsH

14
B.Ph — CHy, — COyH

14

C.Ph — COyN

D. Ph — CO,H
Answer: B

o Watch Video Solution

14. Wolff rearrangement
When «-Diazoketones are photo-irradiated or heated at high
temperature or reacted with silver oxide or silver salts at room

temperature, they loose nitrogen and rearrange to form ketene.


https://dl.doubtnut.com/l/_UpvurDhfP41m
https://dl.doubtnut.com/l/_YrBnU50qTfML

The ketenes reacts rapidly with water, alcohol and amines. Therefore, the

reactions called Wolff-rearrangement.

@—E—CHNE —MO N, 4 Ph-CH=C=0

lu;o ldla-mi:

Ph - CH, - CO4H Ph--cu;—ﬁ—NH—CH,

0
) i
ﬁp,..-*H
_'Ji;&. (A) (Major),
= N
(C =0C) Product (A) is
OCH,
A.


https://dl.doubtnut.com/l/_YrBnU50qTfML

gc-oma

Answer: C

o Watch Video Solution

15. Wolff rearrangement

When «-Diazoketones are photo-irradiated or heated at high
temperature or reacted with silver oxide or silver salts at room
temperature, they loose nitrogen and rearrange to form ketene.

The ketenes reacts rapidly with water, alcohol and amines. Therefore, the

reactions called Wolff-rearrangement.

@—E-{:lw=r M0\ N, + Ph-CH=C=0

ln:o ldr, - NH,
Ph-CHy -CO;H  Ph—CH, --ﬁ— NH - CH,
o


https://dl.doubtnut.com/l/_YrBnU50qTfML
https://dl.doubtnut.com/l/_3fM85olZ3jvr

Ha,
[‘;HEI":F" - CHNg 4 EH:._DH—-HJE-r
Et

Major product of the reaction is :

D. None of these

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_3fM85olZ3jvr

16. Wolff rearrangement

When o-Diazoketones are photo-irradiated or heated at high
temperature or reacted with silver oxide or silver salts at room
temperature, they loose nitrogen and rearrange to form ketene.

The ketenes reacts rapidly with water, alcohol and amines. Therefore, the

reactions called Wolff-rearrangement.

@—ﬁ—mmz MO N 4 Ph-CH - C=0

ln;o Il.C”' - MH

Ph-CH,y -CO3H  Ph-CH, ﬁ ~ NH - CH,4

(8]
ﬁﬁ - Cl ENE
tﬂ%p (A} (Major)
¢ _ CHN,

, Product (A)


https://dl.doubtnut.com/l/_bSmZuMKuODq7

C.
_#CH, ~ CONH,
(:O\m, CONH,
D.
Answer: B

o Watch Video Solution

17. Wolff rearrangement

When «-Diazoketones are photo-irradiated or heated at high
temperature or reacted with silver oxide or silver salts at room
temperature, they loose nitrogen and rearrange to form ketene.

The ketenes reacts rapidly with water, alcohol and amines. Therefore, the

reactions called Wolff-rearrangement.


https://dl.doubtnut.com/l/_bSmZuMKuODq7
https://dl.doubtnut.com/l/_dbOLqVlOokwU

@—i—cm«z —A220 N, + Ph-CH=C=0

llho id[,-“ﬂ:
Ph-CHy ~COZH  Ph—CH; -G~ NH - CH,
0

N,

||
Ph — C — CH,OCHj; —A—> (A)90 % , product (A) is :

A.Ph—CH = CH — OH
B.Ph — CH = CH — OCH,
C.CH;—CH=CH -0 — Ph

D.CH; — CH = CH — OH

Answer: B

° Watch Video Solution

18. Wolff rearrangement
When «-Diazoketones are photo-irradiated or heated at high
temperature or reacted with silver oxide or silver salts at room

temperature, they loose nitrogen and rearrange to form ketene.


https://dl.doubtnut.com/l/_dbOLqVlOokwU
https://dl.doubtnut.com/l/_XZptdOLtFxnw

The ketenes reacts rapidly with water, alcohol and amines. Therefore, the

reactions called Wolff-rearrangement.

@i—ﬂi"Nz —MO N, 4 Ph-CH=C=0

len. -

ln;o LS, - NHy

Ph - CH, - CO,H Inh---cu;--ﬁ—wn—mi3
o}

hv
CH ,OH

» (A),

, Product (A)



https://dl.doubtnut.com/l/_XZptdOLtFxnw

CO,CH,

B.
3
C.
CO,CH,
(8]
D.
Answer: B

° Watch Video Solution

19. Wolff rearrangement

When «-Diazoketones are photo-irradiated or heated at high


https://dl.doubtnut.com/l/_XZptdOLtFxnw
https://dl.doubtnut.com/l/_iO8bqoZDj8JU

temperature or reacted with silver oxide or silver salts at room
temperature, they loose nitrogen and rearrange to form ketene.
The ketenes reacts rapidly with water, alcohol and amines. Therefore, the

reactions called Wolff-rearrangement.

0
@—ﬂ—mm: A0 N+ Ph-CH=C=0

‘!_H‘D l!,CllI NH 4

Ph-CH, -CO,H  Ph-CH, ﬁ-Nll--CHg
0

o

| Ag,0
HO — CHy, — CHy — CHy — C — CHN; % (A), Product (A) is :

0


https://dl.doubtnut.com/l/_iO8bqoZDj8JU

X

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_iO8bqoZDj8JU

1. Match the column I and Il.

LT
=3

= gn—'&»(a}—*‘;—» (B)%}—»(C)

®

D.B.E. = even for product
(Double bond equivalent)

D.B.E. = odd for product |

|
H

_aia; g (=) | Ring expansion takes place
KOH
e
i 0 CHFCIBr
@ Q\ou S T T R ® | Carbene will formed

o Watch Video Solution

2. Match the column | and II.

Column (I) Column (I1)

(a) m (::;_!l‘_ (p) Reimer Tiemann reaction
H |
i Reimer Tiemann expansion :'
| (b) CHCI, (@ (or) Abnormal RNT reaction |
KOH I
|
I 1
|
| (e) CClyCOONa (r) Simman-smith reaction.
A
OH
(d) Sl tn (s) Increase in carbon takes place
]



https://dl.doubtnut.com/l/_Osg2nJwzPm6d
https://dl.doubtnut.com/l/_rEhBgPPM00yb

° Watch Video Solution

3. Match the column I and II.

5.

- 50C1 NH
(@) D"‘OEH e gt (p)| Aromatic compound will formed
KOBr HNO.
KO8 B
Migration take place from carbon to
(b) D— ——Q __-—}[A.) @ eleftmn deﬁde‘:u nitrogen
Bu() K
- CHCly —= -+ (A) ; - S ;
Carbene will formed in this reaction
(c) _e-CaCb gy ACy () (r) rbene re
O,N : NO,
:l!)
- NH, :
(d) KOBr (s) N, will evolve.

o Watch Video Solution



https://dl.doubtnut.com/l/_rEhBgPPM00yb
https://dl.doubtnut.com/l/_EvtCphMBPp5F

4, Match the column I and II.

(a) CHCly + KOH ——— @ Carbocation
{bj D(:r __%L'... (q) Carbanion
t r

3 1 0

(e) Cl ; -E ~ OF i—N;"—’ (r) Free radical
' cl

H
(d) ot () Carbene
A

° Watch Video Solution

5. Matrix :

@ cha, | ®

" KOH,A

CHFCIBr
s O o

¢ CHCl,Br
o/ @ KOH, A )



https://dl.doubtnut.com/l/_ZvxI7tnDZ9Uu
https://dl.doubtnut.com/l/_7WdgXSlNJMSU

o Watch Video Solution



https://dl.doubtnut.com/l/_7WdgXSlNJMSU

